ANSWER KEY

(" Digi D
L Digit Values )

What is the value of the underlined digit?
5,632,814 - The value of the digit 5 is 5 millions, or 5,000,000.
5,632,814 - The value of the digit 6 is 6 hundred-thousands, or 600,000.
5,632,814 - The value of the digit 3 is 3 ten-thousands, or 30,000.
5,632,814 - The value of the digit 2 is 2 thousands, or 2,000.
5,632,814 - The value of the digit 8 is 8 hundreds, or 800.
5,632,814 - The value of the digit 3 is 1 tens, or 10.
632,814- The value of the digit 4 is 4 ones, or 4.

Write the value of the underlined digit.

a. 7,198,752 - 90,000 b. 8,256,726 - 8,000,000
c. 1.071,861- 0 d. 5,472,261 - 200

e. 6,896,804 - 6,000 f. 472,861 - 400,000

g. 3,467,530 - 30 h. 5,707,501 - 5.000.000

7,45 6, 8 0 2

i. In the number above, which digit has the greatest value? 7

j- In the number above, which digit has the least value? 2

k. Whatis the value of the digit in the ten-thousands
place of the number above? 50.000

l What is the value of the digit in the hundred-thousands
place of the number above? 400,000
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